
{6leqlE€t TREr6q.t {'f,$.Bl

q<t.csr ndrET

<rc$<'fq {-{flR $Flq[, <R{rr r

rIBI
\oQ.o qlcm equeqfr nfft+Tfrq-< (ffifqFmfit_etrl-nlsr{)

qtq|r{f {RR R, vqr s ffil{l-cql?t qTF R{c{.{ <i-flqfks "tfut FffiFM
\olR'{ \e rT:rm w{ft,u qr{ I Es qasm q(xtct-{t srT <f<i-\rilTET't c+[q

lfu-Xfr q(rErg {I sffir s.rafi ww.t'( E(E ,{ET{r 6.ffi nl.fr qtFc< qt 
r

qfuK\rrfu \e T5utr qffi+<FrsNtq1s.n(ffiqscl r qAsr eeqrerBl

rc frBB "1ffi "rfrs1Rt6oqw{,{qcl aapqm I

ffiRftE trI{ <t 6Sl6f er$r{ nrE<fifrqffiTfrcr ffisK EM er6{"t sirm

Efk'ef s <Rr RsI"f ({IE{{;T qI]I
>a/os/qoqo
lfr{K frw.r{

)o)-)bo=11 q{l q-Sf{ ob:eo

)b)-\9o \9 eeC = 18 H-{ q$f{ )):oo

)C/orr/qoqo
<fu{ {FRm

Go)-tbo=qqQ{l {s.fE-ob:go

Cb) - VCg g )bb, 9)b, rlgo,gbG = 9bE-{ {sl{ )):oo

)e/os/qoqo
r{lT{T{

TJ-{{]j1

FNI
rro) - t91C = 9b q-{ 

I {Sf{ ob:9o

elg-8Co€CbC=91 q{l WSI-E )):oo

)b/orr/qo\o

{tr{Rr
II-SEfurc"T< qGKFMFlT'Tfr q-Sm ob.oo

c$ltrrt TlSt q,{r{r Etvlt 'tfrslftm <Rslr rfrl EcE 1 1ftqfi6e ffisK frT
<r-€fR-s{lste ffir1qTMw{.Re {rcrf frr{ ql-{cs- qr< I

q{I5F

qb

{-{-stRsrfsi, <Rttq r


